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2,788,370 1,837,410 950, 960
2,788,370 1,837,410 950,960
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2,788,370 1,837,410 950,960
596,510 498,510 98,000
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201
Lo2HA 288,068 285,268 2,800
288,068 285,268 2,800/01 et
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202
4 I 52,900 43,700 9,200
52,900 43,700 9,200/01 =LH048I
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& (1000) LEFSA Y] B (1200) L BHe A & (1220) 22 22l Mg (1221) B 2 HIKIEE: (120) 3 A= 28|
J]' % ~ jun | s
& e 2 ; = p] ES
NS AAIE = &b o = &3 %
301
AP A 113,040 27,040 86,000
89,000 3,000 86,000
200
AL 0l &t 2,191,860 1,338,900 852,960
220
R ALY 2,191,860 1,338,900 852,960
201
2 oyl 1,089,460 826,500 262,960
1,089,460 826,500 262,960 (01 Yyt |
cEHMR 2 654,500,0008 - 554,500,0008 =
cEHEY 382,960,0002 - 220,000,000% =
207
o1 Il | 710,000 410,000 300,000
710,000 410,000 300,000 H
401
NPETEE=E 40,000 0 40,000
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ZH:(1000) 2 Bred Al 2:(1200) L B FHI g (1220) 3222 Mg (1221) 322kl NIAIEE: (220) REHI A (=3[ dE]
2t = Il 3 = 2
Of &b R A = Il =
.2 g A MAE =2 of &b o = &3 %
40,000 0 40,000|01 Al&HI
ok EEZ FHEE FHU = 40,000
405
AHEHS =8| 300,000 50,000 250,000
300,000 50,000 250,000|01 A& =S EF=HI
o= AH Wil 50,000,000& x 14 = 50,000
oCFHEE FaAE /AL 200,000
G AIAE 50,000,000& x 14 = 50,000
dals BYAAH 150,000,000& x 141 = 150,000
N 2 g A 2,788,370 1,837,410 950,960
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